Math 099 - Fall 2009 - Test 4
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Instructions, Only calculators are allowed on this examination. Point values of each problem are indicated.

. Always use the appropriate wording and units of measure in your answers (when applicabfe). :
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).
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. (15pts} A qtaucase has a slope of 7 to 11. What horizontal distance is needed for an 8 foot veltlca]
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3. (15pts) A timber cruiser holds her arm pavallel to the ground. Tn her hand she holds a stick, vertically,
27 inches from her eye. A 14-inch lengtli on the stick lines up with.the top and bottom af a tree. The
- distance from the cruiser to the tree is 78 feet. How tall is the tree?
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(15})?5) At a car dea,lel there are several vised SUV. Their prices are: $28 088, $20,088, $23,988, $23,750,
/ 1115‘14?28 750. What are the median and the average prices?
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5. (15pts) Selve the system of linear équa.tions
dg = 2y=2 - ' '
dp+3 = Y
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G. (15pts) Casey has 140 coins. He has.$§ 31.10 altogether. -If he has only dimes and quarters, how many

of each does he have?
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7. (15pts) A birthday brunch caterer charges $20 for adults and $§12 for young people between 6 and 15.
Children under 6 are free. The total budge{ for a party is $360. Let a = the number of adults and

y = the number of young people. There are a maxinnun of 12 young people who might attend. Write

a system of inecualities to déscribe the possible numbers of people age 6 and over who can’ attend.

- Graph and show the solution set (according to the context). Label the corner point and provide at

. least one possibility for the attendant. .
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(b) (7pts) (a+ B)(a —b) = -y
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